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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to
one sentence.

(it)  Answers to questions carrying 8 marks may be from 50 - 75 words.
(iii)  Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.
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List any two personal objectives of management.
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Give any one reason why principles of management are not rigid
prescriptions.
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Hero Ltd’s target is to produce 10,000 shirts per month at a cost of
Rs. 150 per shirt. The Production Manager could achieve this target at
a cost of Rs. 160 per shirt. Do you think the Production Manager is

‘effective’ ? Give reason in support of your answer.
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;' 4. State the objective of ‘Motion Study’. ' L E
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© 5. Give any one advantage of internal sources of recruitment. B
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6. Name the method of training in which the trainee learns under the

» guidance of a master worker. 1
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i A Name any two esSential in‘gredients’ of sound working capital

management. N O
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- 8. ‘Cost of debt’ is lower than the ‘cost of equity share capital’. Give
‘reasons why even then a company cannot work only with the debt. - &
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‘Which Act of consumer protection prov1des safety to consumers agamst -
deficient services ? 1
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~ 10. Why is consumer protection important for busin‘essmen ? Give any one
reason. 1
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Define planning. List any two limitations of planmng 3
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Explaln by giving any three reasons why decentrahsatmn is important
- in an organisation. 3
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13.

14.

15.

16.

17.

18.
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Explain when and why the need is felt for having a framework within
which managerial and operating tasks are performed to accomplish
desired goals. Name this framework also.
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Explain the following money market instruments :
(a)  Certificate of deposit

(b) Call money
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What is meant by ‘Product concept’ of marketing ?
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Explain ‘Objectives’ and ‘Strategy’ as types of plan.
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Blue Birds Ltd. offers to its employees to issue shares at a price which
is less than the market price.

(1) Name and explain the type of incentive offered to the employees.

(i1)) Explain one more incentive of the same category.
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Explain the meaning of Financial Planning. Why is it important ? Give
any two reasons.

ot fraem & o gugRe | 98 & gewyl @ 2 P @ FRe I |



State any two advantages and any two limitations of mform#ll .
organisation. L 4
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Explain the following ‘nghts’ of consumers : . SRR 3
(@  Right to be heard ' ' ’

(ii)  Right to seek redressal
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'21. “Art is concerned with personal application of knowledge.” In the light

~ of this statement compare all the features of art with management amﬁ ,

| ‘prove that it is an art.
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(i) ~ Name and explain the pnnclple of management in wh1ch worketrq
~ should be encouraged to develop and carry out their plans for )
improvements in the organisation.

" (ii)) . Name and explain the technique of sc1ent1fic management whch
- helps in eliminating unneces:ary dlversﬂ;y of products and thus .
_ " results in saving cost. : %j =§ '
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| ‘ _
. Explain by g1v1ng any five reasons why understandmg of Bus1n¢d. . 2
~ Environment is important for managers. Q
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24. State any five methods of floating new issues in the primary markeﬁ. | 6 |
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25.

26.

27.

66/1

“An important task in the marketing of goods relates to designing the
label as'it provides useful and detailed information about the product.”
In the light of the above statement draw a label for a packet of Yuice’
and highlight the important information to be provided on it.
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Explain ‘staffing’ as a function of management. Also explain by giving
any four reasons why proper staffing is required in an organisation.

OR

Explain the process of selection of employees.
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“Leadership is a key factor in making any organisation successful.” Do
you agree with this statement ? Give any four reasons in support of
your answer.

OR
“Every action in the organisation is initiated through directing.”

Explain any four points of importance of directing in the light of this
statement.
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28. Explain the meaning of ‘Budgetary Control’. Why is it cons1dered abl :
“important technique of controllmg ? . |

 Explain any four points h1ghhghtmg the 1mportance of controllmg
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29. What is meant by ‘Financing Decision’ ? State any four factors |
' affecting the financing decision. _ : -
| OR X
What is meant by ‘Capital Structure’ ? State ‘any four factor* |
affecting the choice of capital structure.
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- 80. Name the element of marketing mix which affects the revenue and |
' wofits of a firm. Explain any ﬁve faetors ‘which help in determlnmg R
ﬂns element.
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- OR

.’generdly consumers- prefer to buy goods directly from the producers |
ﬁt it is not always possible.” Give reasons why it is so, by
' mlmmng four different factors responsible for this.
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